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TET Cum TRT-2018 

SA – Special Schools – Maths – 30-01-2019 (S2) 

1. The branch of linguistics that studies the sounds of human speech is

1. Paleography

2. Semiotics

3. Phonology

4. Phonetics

eT�w¾ #û�d uó²cÍ<ó�ÇqT\qT n<ó�«jáTq+ #û�d uó²cÍXæçd�ï XæK 

1. �|*jîÖç>·|�Ó

2. d¾$TjáÖ{ì¿ùà

3. b�þHÃ\J

4. b�þHî{ì¿ùà

2. EDUSAT is

1. Educational news channel for children

2. Science education satellite channel

3. The first Indian satellite for serving the educational sector

4. An online satellite channel for crash course to teachers

EDUSAT nHû~ 

1. |¾\¢\Å£� $<�«d�+�+~óÔá y�s�ï #ó�qýÙ

2. $C²ãqXæçd�ï $<�« �|�ç>·V�² #ó�qýÙ

3. $<�«Å£� d�+�+~ó+ºq �de\Â¿Õ �+&�jáÖ jîTT¿£Ø yîTT<�{ì �|�ç>·V�²

#ó�qýÙ

4. �bÍ<ó�«jáTT\Å£� �H�ýÉÕH� ç¿±wt¿ÃsYà ¥¿£�D�#ûÌ �|�ç>·V�² #ó�qýÙ
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3.  The report that was entitled on ‘Education and National 
Development’ is  

1.  Kothari Commission’s report 

2.  Mudaliar Commission’s report 

3. Hunter Commission’s report 

4.  Woods Dispatch  

 »$<�« eT]jáTT C²rjáT n_óe�~Æµ ]bþsÁT¼>± B�� |¾\TkÍïsÁT 

 1. ¿=sÄ�] ¿£MTw�H� ]bþsÁT¼ 

 2. yîTT<�*jáÖsY ¿£MTw�H� ]bþsÁT¼ 

 3. V�²+³sY ¿£MTw�H� ]bþsÁT¼ 

4. �&�à &�kÍÎ#Y 

 

4. The 4th India International Science Festival (IISF) 2018 was held at  

1. Hyderabad  

2. New Delhi 

3. Lucknow 

4. Nagpur 

 H�\Ze uó²sÁÔá n+Ôás�¨rjáT �dÕqTà �|�d¾¼eýÙ 2018 È]Ðq q>·sÁ+ 

 1. �VÕ²<�s�u²<� 

 2. qÖ«&ó�©¢ 

 3. \¿Ã� 

4. H�>´|�PsY 
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5.  The South Asian University (SAU) is situated in the city of 

1. Kathmandu   

2. Colombo 

3. Dhaka 

4. New Delhi 

 kåÔY @w¾jáTH� jáTÖ�e]à{ì (SAU) � q>·sÁ+ýË ¿£\<�T 

 1. U²³�+&�T 

 2. ¿=\+uË 

 3. &ó�¿± 

4. qÖ«&ó�©¢ 

 
 
6.  The author of the book “Imaginary Homelands” is  

1. Arundhati Roy 

2. Salman Rushdie 

3. Khushwanth Singh 

4. Chetan Bhagat 

 »»�eÖ�q¯ V�²Ãy�Tý²+&�àµµ |�Úd�ï¿£ sÁ#ásTTÔá 

 1. nsÁT+<ó�r s�jYT 

 2. kÍý�H� sÁwÓÝ 

 3. Å£�w�Ç+ÔYd¾+>´  

4. #ûÔáH� uó�>·ÔY 
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7. The test used to detect signs of nerve injury is  

qs�\ >±jáÖ\qT |�̄ ¿ì�+#áT³Å£� y�&û |�̄ ¿£� 

1. NCV 

2. LFT 

3. HbA1c 

4. ABO 

  
 

8. ‘Sampoorna Kranti’ Express train runs in between  

1. Visakhapatnam and Secunderabad 

2. Trivendram and New Delhi 

3. Rajendranagar (Patna) and New Delhi 

4. Hazarath Nizamuddin and Pune 

 »d�+|�PsÁ� ç¿±+Üµ m¿ùàç�|dt ÂsÕ\T � |�³¼D²\ eT<ó�« q&�T|��&�TÔáT+~ 

 1. $XæK|�³�+, d¾¿ì+ç<�u²<�T 

 2. çÜyû+ç&�+, qÖ«&ó�©¢ 

 3. s�Cñ+ç<�q>·sY (bÍ{²�), qÖ«&ó�©¢ 

 4. V�²çÈÔY �C²eTTBÝH�, |�Pq 
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9. Hypersomnia means  

1. Fear of running water  

2. Excessive sleepiness 

3. Fear of heights 

4. Fear of blood 

 �VÕ²|�sYkþ$T�jáÖ nq>± 

 1. ç|�eV¾²d�Tïq� ú{ìe\q uó�jáT+ 

 2. nÔá«~ó¿£ �ç<� 

 3. mÔáTï ç|�<ûXæ\+fñ uó�jáT+ 

4. sÁ¿£ïeT+fñ uó�jáT+ 

 

10. This trophy is related to the game of “Tennis” 

1. Ashes series cup  

2. Divan cup 

3. Davis cup 

4. Colombo cup 

 »fÉ��dtµ �³Å£� d�+�+~ó+ºq ç{Ë|�Ó 

 1. jáÖ�wdt dÓ]dt ¿£|t 

 2. ~y�H� ¿£|t 

 3. &û$dt ¿£|t 

4. ¿=\+uË ¿£|t 
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11. The severe cyclone which occured at north coastal districts of 
Andhra Pradesh during October 2018 is called 

1. Titli   

2. Nargis 

3. Thane 

4. Hudhud 

2018, n¿Ã¼�sÁT Hî\ýË �+ç<ó�ç|�<ûXÙýË� �ÔáïsÁ¿ÃkÍï �ý²¢\Å£� d�+uó�$+ºq  

rçe ÔáTb�ÍqTqT �ý² |¾*#�sÁT 

 1. Ür¢ 

 2. q]Zdt 

 3. <¸�Hî 

4. V�Q<�V�Q<� 

 

12. The following gases contribute to the “Green House Effect” 

1. Ammonia and Ozone   

2. Carbon dioxide and Methane 

3. Carbon tetrafluoride and Nitrous oxide 

4. Carbon mono-oxide and Sulphur-di-oxide 

 »»ç^H�V�²�dtµµ ç|�uó²y��¿ì ¿±sÁDeTjûT« y�jáTTeÚ\T 

 1. nyîÖ��jáÖ eT]jáTT zCËH� 

 2. ¿±sÁÒH�&îÕ�Â¿Õà&� eT]jáTT MT<û̧H� 

 3. ¿±sÁÒH� fÉç{²b�þ¢ÂsÕ&� eT]jáTT HîÕç³dt �Â¿Õà&� 

4. ¿±sÁÒH�yîÖH�Â¿Õà&� eT]jáTT d�\ÎÛsY&îÕ�Â¿Õà&�  
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13. Bharatanatyam is historically called as  

1. Sadir Natyam 

2. Odissi 

3. Pallavi 

4. Sustrit 

 #�]çÔ�Ôá�¿£+>± uó�sÁÔáH�{²«�� �$<ó�+>± |¾\TkÍïsÁT 

 1. kÍ~sY H�³«+ 

 2. ÿ&�dÓà 

 3. |�\¢$ 

4. d�Tç¥ÔY 

 

14. The El-Nino Phenomenon occurs in  

1. Atlantic Ocean 

2. Arctic Ocean 

3. Indian Ocean 

4. Pacific Ocean  

 mýÙ̀ �HÃ <��ÐÇw�jáT+ �¿£Ø&� ÈsÁT>·TÔáT+~ 

 1. n{²¢+{ì¿ù eTV�äd�eTTç<�+ 

 2. �]Ø{ì¿ù eTV�äd�eTTç<�+ 

 3. V¾²+<�Ö eTV�äd�eTTç<�+ 

4. |��d¾|¾¿ù eTV�äd�eTTç<�+ 
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15. The host country of Asian Weight Lifting Championship for men 
 and women in 2019 is 

1. China   

2. Sri Lanka 

3. India 

4. Pakistan 

 2019e d�+eÔáàsÁ+ýË |�ÚsÁTw�§\, çdÓï\ �d¾jáÖ yîsTT{Ù *|�¾¼+>´ bþ{¡\Å£�  

�Ü<̧�«$T#ûÌ <ûXø+ 

 1. #îÕH� 

 2. l\+¿£ 

 3. �+&�jáÖ 

4. bÍ¿ìkÍïH� 

 

16. Who is appointed as ICC Chairman for the second time 

1. Shashank Manohar 

2. Zaheer Abbas 

3. Srinivasan 

4. David Richardson 

 Âs+&�e |�s�«jáT+ ICC n<ó�«Å£��&�>± �jáT$T+#á�&�qy�sÁT 

 1. XøXæ+¿ù eTHÃV�²sY 

 2. ÈVÓ²sY nu²Òdt 

 3. l�y�d�H� 

4. &û$&� ]#ásY¦d�H� 
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17. The first woman cricketer in the world to take 200 ODI wickets 

1. Suzie Bates 

2. Jhulan Goswami 

3. Mithali Raj 

4. Meg Lanning 

 ç|�|�+#á eTV¾²Þ² ç¿ìÂ¿{Ùq+<�T 200 ODI  $Â¿³T¢ rd¾q eTV¾²Þ² ç¿ìÂ¿³sY 

 1. d�TJ uñ{Ùà 

 2. p\H� >ÃkÍÇ$T  

 3. $T<¸�© s�CÙ 

4. yîT>´ ý²��+>´ 

 

18. The world’s first GST calculator was launched by this company 

1. Armani 

2. Fertina 

3. Tissot 

4. Casio India 

 yîTT³¼yîTT<�{ì GST ¿±*Å£�«ýñ³sYqT ç|�yûXø�|{ì¼q ¿£+�|ú 

 1. �sÁ��      

 2. �|�]¼H� 

 3. {ìkÍà{Ù 

 4. ¿±d¾jîÖ �+&�jáÖ 
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19. The theme of the World AIDS Day 2018 is  

1. Getting to zero 

2. Zero discrimination  

3. Know your status 

4. Total eradication 

 2018 d�+eÔáàsÁ|�Ú ç|�|�+#á msTT&�à ~q+jîTT¿£Ø �<ûÝXø«eTT  

 1. msTT&�àqT XøSq«+ #ûjáT&�+ 

 2. $e¿£� ýñÅ£�+&� #ûjáT&�+ 

 3. MT d¾�Ü� Ôî\Td�T¿Ã+&� 

4. msTT&�àqT |�P]ï>± �sÁÖ�*+#á&�+ 

 
20. The Chief Guest of 2019 Republic Day Celebrations in India 

1. Dilma Rousseff   

2. Cyril Ramaphosa 

3. Michelle Bachelet 

4. Emmanuel Macron 

 �+&�jáÖ 2019 >·DÔá+çÔá ~HÃÔáày�\ýË bÍý¤Zq� eTTK«nÜ~¸ 

 1. ~ý²� sÁÖ�d|�t 

 2. d¾]ýÙ s�eTb�þd� 

 3. yîT®UÉýÙ _#YýÉ{Ù 

4. �eÖ�qT«jáTýÙ eÖç¿±H� 
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21. These books are the appendices of Brahmans.   
 

1. Aranyaka 

 2. Nirnayaka 

 3. Gautrika 

 4. Mantaranika 
  

 � |�Úd�ï¿±\T çu²V�²�D²\Å£� nqT�+<ó�\T  
 

 1. nsÁD«¿±\T 

 2. �s��jáT¿±\T ( Nirnayaka) 

 3. >�çÜ¿±\T (Gautrika) 

 4. eT+Ôás��¿±\T (Mantaranika) 

 
 
22. Which of these reports is a summary of different resolutions, 

minutes and proceedings of the CABE since 1936?  
 

1. Hartog Committee Report 

 2. Hunter Commission Report 

 3. Wood’s Despatch 

 4. Sargent Committee Report 
  

 ç¿ì+<� Ôî*Îq @ �yû~¿£,  1936 qT+&�  CABE jîTT¿£Ø rs��H�\T, $T�{Ùà,  

çbõdÓ&�+>´à jîTT¿£Ø kÍs�+Xø+? 

 

 1. V�äs�¼>´ ¿£$T{¡ì �yû~¿£ 

 2. V�²+³sY ¿£MTw�H� �yû~¿£ 

 3. �&�à &�kÍÎ#Y 

 4. kÍsÁ̈+{Ù ¿£$T{¡ �yû~¿£  
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23. Which of these is a new Regional Institute of Education (NE-RIE) 
set up to cater to the educational needs of North-Eastern States i.e., 
Assam, Arunachal Pradesh, Meghalaya, Mizoram, Manipur, 
Nagaland, Sikkim and Tripura?  

 

1. RIE Itanagar 

 2. RIE Guwahati 

 3. RIE Shillong 

 4. RIE Gangtok 
  

 �Xæq« s�çcÍ¼ýÉÕq nkÍà+, nsÁTD²#áýÙ ç|�<ûXÙ, yûT|��Ö\jáT, $TCËs�+,  

eTDì|�ÚsY, H�>±ý²+&�, d¾¿ìØ+ eT]jáTT çÜ|�ÚsÁ s�çcÍ¼\ $<�« ned�s�\T  

rsÁÌ&��¿ì @s�Î³T #ûd¾q ÿ¿£ qÖÔáq çbÍ+rjáT $<�«d�+d�� (NE-RIE) 
 

 1. RIE �{²q>·sY 

 2. RIE >�V�²Ü 

 3. RIE w¾ý²¢+>́ 

 4. RIE >±+>±¼¿ù 

 

 
24. Among the following protective nutrients are  
 

1. Fats and Carbohydrates 

 2. Vitamins and Minerals 

 3. Proteins and Fats 

 4. Carbohydrates and Vitamins 
  

 ¿ì+~ y��ýË sÁ¿£�DÅ£� ÔÃ&�Î&û bþw�¿±\T 
 

 1. ç¿=eÚÇ\T, |¾+&�|�<�s��\T 

 2. $³$TqT\T, K�È\eD²\T 

 3. eÖ+d�¿£�ÔáTï\T, ç¿=eÚÇ\T 

 4. |¾+&�|�<�s��\T, $³$TqT\T 
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25. Value of pleasure is also known as  
 

1. Intrinsic value 

 2. Instrumental value 

 3. Organic value 

 4. Recreational value 
  

 �q+<�+ jîTT¿£Ø $\TeqT �ý² Å£L&� |¾\TkÍïsÁT.  
 

 1. n+ÔásÁZÔá $\Te 

 2. kÍ<ó�HÃ|�jîÖ>· $\Te 

 3. �s�Z�¿ù $\Te 

 4. $HÃ<� $\Te 

 
 

26. The 5 countries with highest population in the world. (in the 
descending order)  

 

1. China, Pakistan, Mexico, India, Bangladesh 

 2. USA, Nigeria, Russia, Pakistan, China 

 3. China, India, USA, Indonesia, Brazil 

 4. Nigeria, Bangladesh, Pakistan, Japan, Russia 

  5 nÔá«~ó¿£ ÈH�uó²>·\ <ûXæ\T esÁTd�>± (nesÃV�²D ç¿£eTeTTýË) 
 

 1. #îÕH�, bÍ¿ìkÍïH�, yîT¿ìà¿Ã, �+&�jáÖ, u²+>±¢<ûXÙ 

 2. jáTT.mdt.m, HîÕJ]jáÖ, sÁcÍ«, bÍ¿ìkÍïH�, #îÕH� 

 3. #îÕH�, �+&�jáÖ, jáTT.mdt.m, �+&ÃHûw¾jáÖ, çuÉ�ýÙ 

 4. HîÕJ]jáÖ, u²+>±¢<ûXÙ, bÍ¿ìkÍïH�, ÈbÍH�, sÁcÍ« 
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27. In the context of RTI Act 2005, what is the term used for a small 
part of anything, intended as representative of the whole? 

 

1. Sample 

 2. Material 

 3. specimen 

 4. record 
  

 d�eÖ#�sÁ V�²Å£�Ø #á³¼+ 2005 <��cÍ¼«, d�eTkÍï�¿ì çbÍÜ�<�«�� �<ûÝ¥+#û 

@<îÕH� ºq� n+Xø+ ¿Ãd�+ �|�jîÖÐ+#û |�<�+  
 

 1. qeTÖH� (Sample) 

 2. |�<�sÁ�eTT (Material) 

 3. �dÎd¾yîTH� (specimen) 

 4. ]¿±sY¦ 

 
 

28. One of the use of Globalisation is 

1. There is a raise in expenditure on education of students 
 2. Multinational companies playing dominant role 
 3. Heavy competition among International Educational 

Institutions 
 4. Higher Education became accessible to most of the people  
 

  

 ç|�|�+N¿£sÁDeTT e\q ¿£*Ðq ç|�jîÖÈH�\ýË ÿ¿£{ì 
 

 1. $<�«sÁT�\ $<�«e«jáT+ u²>± �|]Ð+~ 

 2. �V�QÞø C²Ü d�+d��\T �~ó|�Ôá«+ �|]Ð+~ 

 3. n+Ôás�¨rjáT $<�« d�+d��\ eT<ó�« $|�̄ ÔáyîT®q bþ{¡  

 4. #�ý² eT+~¿ì �q�Ôá $<�« n+<�Tu²³TýË¿ì eºÌ+~ 
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29. As per NCF 2005, the Indian arts are living examples of the 
country's, 

 

1. Talent of India 

 2. Democratic values of India 

 3. Multilingualism of India 

 4. Secular fabric and cultural diversity of India 
  

 NCF`2005 ç|�¿±sÁ+, uó²sÁrjáT ¿£Þø\T, M{ì¿ì d�Je �<�V�²sÁD\T (living 
examples) 
 

 1. uó²sÁÔá<ûXø ç|�Üuó� (talent) 

 2. uó²sÁÔá<ûXø ç|�C²kÍÇ$T¿£ $\Te\T 

 3. uó²sÁÔá<ûXø �V�Quó²w¾ÔáÔáÇ+ (multilingualism) 

 4. uó²sÁÔá<ûXø d�eÖÈ @¿£Ôá (secular fabric) eT]jáTT kÍ+d�Ø �Ü¿£ 

yîÕ$<ó�«+ 

 

 
30. In India, the common school system concept was proposed in this 

report. 
 

1. Secondary Education Commission report (1952-53) 

 2. Kothari Commission report (1964-66) 

 3. University Education Commission report (1948-49) 

 4. Basic Education report (1937) 

 uó²sÁÔá<ûXø+ýË kÍ<ó�sÁD bÍsÄÁXæ\ uó²eq ç|�ÜbÍ~+#á�&�q ]bþsÁT¼. 
 

 1. �d¿£+&�̄  $<�«¿£MTw�H� ]bþsÁT¼ (1952`53) 

 2. ¿=sÄ�] ¿£MTw�H� ]bþsÁT¼ (1964`66) 

 3. $XøÇ$<�«\jáT $<�«¿£MTw�H� ]bþsÁT¼ (1948`49) 

 4. uñd¾¿ù $<�«$<ó�q ]bþsÁT¼ (1937) 
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31. When we revise what we study, we are strengthening  

 1. Rote memory 

 2. Immediate memory 

 3. Long term memory 

 4. Subconscious memory 

 eTqeTT #á~$q <��� |�ÚqXøÌsÁD #ûjáTT³ <�Çs� � d�� �Ü� �\|�sÁTkÍïeTT. 

 1. �{¡¼ d�� �Ü 

 2. Ôá¿£�D d�� �Ü 

 3. BsÁé ¿±*¿£ d�� �Ü 

 4. n#ûÔáq d�� �Ü 

 
 

32. If a child calls all the men as father and afterwards if he / she used it 
only for his father – This relates to this principle of development  

 1. The principle of processing from general to specific responses  

 2. Development is cumulative 

 3. Development is an interactive process 

 4. Development takes place in an exact direction 

 ¥Xø�eÚ yîTT<�³ eT>·y�Þøß+<�]ú »H�q�µ n� d�+uË~ó+º, |¾<�|� � |�<��� Ôáq

Ôá+ç&�¿ì eÖçÔáyûT �|�jîÖÐ+ºq ` n~ � $¿±d� d�ÖçÔ��¿ì d�+�+~ó+ºq~. 

 1. $¿±d�+ kÍ<ó�sÁD ~Xø qT+&� �]Ýw�¼ ~Xø>± kÍ>·TÔáT+~  

 2. $¿±d�+ d�+ºÔáyîT®+~ 

 3. $¿±d�+ ÿ¿£ |�sÁd�ÎsÁ #ásÁ« 

 4. $¿±d�+ ÿ¿£ ¿£ºÌÔáyîT®q ~Xø>± kÍ>·TÔáT+~ 
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33. Ramu’s father shows him two containers of water. He then pours the 
water from one container into another taller, narrower container. 
Ramu agrees that the tall container and the left out container with 
water have the same amount of water. According to Piaget, this 
concept is referred to 

 1. Animistic thinking   

 2. Conservation 

 3. Reversibility 

 4. Abstract thinking 

 s�eTT y�Þøß H�q�, nÔá�¿ì Âs+&�T úsÁTq� bÍçÔá\T #áÖ|¾+#�&�T. Ôás�ÇÔá  

nÔá&�T ÿ¿£ bÍçÔáýË� úsÁT, bõ&�eÚ>± d�q�>± �q� eT]jîTT¿£ bÍçÔáýË�¿ì  

bþkÍ&�T. n|�ð&�T bõ&�eÚ>± �q� bÍçÔá, yîTT<�³>± ú{ìÔÃ �q� bÍçÔá d�eÖq 

|�]eÖD+>·\ úsÁT ¿£*Ð �H��jáT� s�eTT n+^¿£]+#�&�T. |¾jáÖCñ  

ç|�¿±sÁeTT, � uó²eq B�¿ì d�+�+<ó�eTT 

 1. d�s�ÇÔá�¿£ �ýË#áq 

 2. |�~\|�sÁT#áT¿=Hû uó²eq 

 3. $|�s�«Ôá�¿£ uó²eq 

 4. neTÖsÁï �ýË#áq 
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34. Gopal is very skillfull in doing carpentry work, but when he has to 
do electric work, his skill in carpentry does not help him. The 
transfer of learning embedded in this is   

 1. Zero transfer 

 2. Positive transfer 

 3. Negative transfer 

 4. Bilateral transfer 

 >ÃbÍýÙÅ£� #î¿£Ø|�qT\T (¿±ÂsÎ+³¯ýË) #ûjáT&�+ýË eT+º HîÕ|�ÚD«eTTq�~, ¿±� 

m\ç¿ì¼¿ù |�� #ûjáTe\d¾ eºÌq|�ð&�T, nÔá� ¿±ÂsÎ+³¯ HîÕ|�ÚD«+ @$<ó�eTT>±  

�|�jîÖ>·|�&�ýñ<�T. B�ýË �$T&� �q� nuó�«d�q �<�ý²sTT+|�Ú. 

 1. XøSq« �<�ý²sTT+|�Ú 

 2. <ó�H�Ôá�¿£ �<�ý²sTT+|�Ú 

 3. �TTD²Ôá�¿£ �<�ý²sTT+|�Ú 

 4. ~ÇbÍsÁôÇ �<�ý²sTT+|�Ú 

 

35. One of the following test is a verbal as well as a performance test  

 1. Bhatia’s Intelligence test battery 

 2. Wechsler Bellevue Intelligence scale 

 3. Army Beta test 

 4. General Mental Ability test 

 ¿ì+~ y��ýË ÿ¿£{ì Xæ_Ý¿£ eT]jáTT �cÍÎ<�q |�̄ ¿£�\Å£� #î+~q~ 

 1. uó²{ìjáÖ ç|�C²ã eÖ|�� 

 2. yîw�¢sY uÉýÙeP« ç|�C²ã �dØ\T 

 3. �¯� ;{² |�̄ ¿£� 

 4. ÈqsÁýÙ yîT+³ýÙ m_*{¡ |�̄ ¿£� 
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36. A deficit in which of the following areas would most accurately be 
called a phonological deficit?   

 1. Comprehension of the meanings associated with words 

 2. Ability to recognize the difference between sound 
 combinations 

 3. Monitoring of complete sentences 

 4. Construction of complete sentences 

 �ç¿ì+~ y�{ìýË @ d¾�Ü� çXøeD ýË³TÅ£� (phonological deficit) ÔáÐq~>± 

uó²$+#áe#áTÌ 

 1. |�<�eTT\Å£� y�{ì ns��\Å£� eT<ó�«>·\ d�+�+<ó��� ç>·V¾²+#áT³ 

 2. ¿£\>·*d¾ �q� sÁ¿£sÁ¿£eTT\ Xø�ÝeTT\ eT<ó�« Ôû&�qT >·T]ï+#û kÍeTsÁ�«+ 

 3. eÖ{²¢&û³|�ð&�T Xø�ÆeTTjîTT¿£Ø kÍ�sTT� ç>·V¾²+#á>·\T>·T³ |�P]ï  

y�¿±«\qT |�sÁ«yû¿ì�+#áT³ 

 4. |�P]ï y�¿£« �s��D²\qT #ûjáT>·\T>·T³ (|�\T¿£>·\T>·T³) 

 

37. 56-70 db of degree of Hearing Loss can be categorized as   

 1. Severe Hearing Loss  

 2. Mild Hearing Loss 

 3. Profound Hearing Loss 

 4. Moderately Severe Hearing Loss 

 56-70 db \ &�ç^\ çXøeD qcÍ¼�� �$<ó�+>± e¯Z¿£]+#áe#áTÌ. 

 1. rçe çXøeD qw�¼+ 

 2. ÔáÅ£�Øe çXøeD qw�¼+ 

 3. nÜrçe çXøeD qw�¼+ 

 4. $TÔá+ qT+º ¿=+Ôá rçe çXøeD qw�¼+ 
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38. Hearing loss occurs after acquisition of speech & language after the 
age of onset is called as -  

 1. Acquired Hearing Loss 

 2. Congenital Hearing Loss 

 3. Mixed Hearing Loss 

 4. Conductive Hearing Loss 

 eÖ{²¢&�³+ d�+uó²w¾+#á³+ eºÌq ÔásÁTy�Ôá @sÁÎ&û $�¿ì&� ýËbÍ��  

@eT+{²sÁT? 

 1. »nÂ¿ÕÇsY¦µ V¾²jáT]+>´ ý²dt 

 2. »¿£+CÉ�³ýÙµ V¾²jáT]+>´ ý²dt 

 3. »$T¿ùà&�µ V¾²jáT]+>´ ý²dt 

 4. »¿£+&�¿ì¼y�µ V¾²jáT]+>´ ý²dt 

39. Priya is a 10 years old girl in 5th class. While teacher asked questions 
she is answering with long pauses and repeating some letters & 
words.  What defect is in her ?  

 1. Tongue Tie 

 2. Stuttering 

 3. Cerebral palsy 

 4. Cleft lip & Palate  

 ç|¾jáT 5e ÔásÁ>·Ü #á<�TeÚÔáTq� 10 d�+öö ejáTd�Tà>·\ u²*¿£. �yîT {¡#ásÁT  

ç|�Xø�\T n&�Ðq|�Ú&�T |�<�eTT\T kÍ>·Bd�Öï eT]jáTT ¿=�� n¿£�sÁeTT\T  

H=Å£�ØÔáÖ, ¿=�� |�<�eTT\T eTsÁ\ eTsÁ\ �#áÌÛ]d�Öï (|�\TÅ£�ÔáÖ)  

d�eÖ<ó�qeTT\T #î|�ÚÔáT+~. �yîTÅ£� >·\ ýË|�eTT @$T{ì? 

 1. »³+>´ fÉ®µ 

 2. qÜï 

 3. »�d]ç�ýÙ bÍ©àµ 

 4. ç>·V�²D yîTTç] 
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40. A 6 years old child is pronouncing some words wrongly, i.e., ‘kaki’ 
as ‘tati’, ‘lorry’ as lolly’. What suggestions to be given to her to 
improve her vocabulary ?  

 1. Ask her to take training with speech therapist 

 2. Ask her to purchase a audio mission 

 3. Send her to physiotherapy 

 4. Send her to psychotherapy 

 �sÁT d�+eÔáàsÁeTT\ ejáTd�Tà>·\ ÿ¿£ u²*¿£ ¿=�� |�<�eTT\qT Ôá|�ð>±  

|�\TÅ£�ÔáTq�~. �<� : »¿±¿ìµ� »Ô�Üµ n�, »ý²¯µ� »ý²©µ n�. �yîT jîTT¿£Ø  

y�¿±ÌÔáTs�«�� yîTsÁT>·T|�sÁT#áT³Å£� @ d�\V�ä �eÇe#áTÌ 

 1. »dÓÎ#Y <î̧sÁ|¾dt¼µ e<�ÝÅ£� yî[ß ¥¿£�D rd�T¿ÃeT� #î|�ð³ 

 2. »�&�jîÖ $Tw�H�µ (#î$ $Tw�qT) ¿=qT¿ÃØeT� #î|�ð³ 

 3. »|�¾�jîÖ<î̧sÁ|�Óµ ¿ì |�+|¾+#áT³ 

 4. »�dÕ¿Ã<î̧sÁ|�Óµ ¿ì |�+|¾+#áT³ 
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CONTENT  

 

41. A sum of money invested was compounded annually.  The amount 
of interest in two successive years are ` 2700, ` 2880, then the rate 
of interest is 

 ¿=+Ôá yîTTÔáïeTT�|Õ d�+eÔáàs��¿=¿£kÍ] #áç¿£e&�¦ �eÇ�&�TÔáT+~. � yîTTÔáïeTT�|Õ

eºÌq e&�¦ Âs+&�T d�+eÔáàs�\ýË esÁTd�>± ` 2700, ` 2880 nsTTq e&�¦¹s³T 

m+Ôá? 

 1. 6 1
2

% 

 2. 6 1
3

% 

 3. 6 2
3

% 

 4. 6 3
4

% 

 

42. The work done by (x–3) men in (2x+1) days and (2x+1) men in 
(x+4) days is in the ratio 3 : 10, then the value of ‘x’ is  

 (x–3) eT+~ |�ÚsÁTw�§\T (2x+1) sÃE\ýË #ûd¾q |�� eT]jáTT (2x+1) eT+~ 

|�ÚsÁTw�§\T (x+4) sÃE\ýË #ûd¾q |�� �w�ÎÜï 3 : 10 nsTTq ‘x’ $\Te  

 1. 3 

 2. 6 

 3. 9 

 4. 12 
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43. A shop keeper offers a discount of 20% on all the items and makes a 
profit of 12%, then the cost price of an article if its market price is 
Rs.2800  

 ÿ¿£ cÍ|�Úy�&�T Ôáqe<�ÝqTq� n�� ed�TïeÚ\�|Õ 20% sÁTd�TeTT �eÇ&�+ e\q  

12% ý²uó�+ bõ+<�&�T. nsTTq ÿ¿£ ed�TïeÚ sÁÖöö 2800 \Å£� n$T�q <��  

nd�\T $\Te 

 1. 2504 

 2. 2352 

 3. 2240 

 4. 2000 

 

44. A train travelled from station A to B at a speed of 100 km/hr and  
returned at a speed of 150 km/hr. Then the average speed of the train 
is   

 ÿ¿£ ÂsÕ\T �d¼w�qT A qT+&� B ¿ì >·+³Å£� 100 ¿ì.MT. yû>·+ÔÃ yî[ß Ü]Ð  

>·+³Å£� 150 ¿ì.MT. yû>·+ÔÃ �jáT\T<û]q �d¼w�qTÅ£� #û]+~. � ÂsÕ\T d�s�d�] 

yû>·eTT 

 1. 140 

 2. 130 

 3. 125 

 4. 120 
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45. The polynomial  x3 – 6x2 + ax + b is exactly divisible by  x2 – 3x + 2 
then the value of a and b are respectively 

 x3 – 6x2 + ax + b �V�Q|�~� x2 – 3x + 2 �Xâôw�eTT>± uó²Ð+ºq, 

a eT]jáTT b $\Te\T esÁTd�>± 

 1. 11, 6 

 2. 11, –6 

 3. –11, 6 

 4. –11, –6 

 

46. If  α, β  are the roots of the quadratic equation ax2 + bx + c = 0 then 

the equation for whose roots are  1
a

  and  1
b

  is  

 ax2 + bx + c = 0  esÁZd�MT¿£sÁDeTT jîTT¿£Ø eTÖý²\T α, β  nsTTq 
1
a

, 1
b

eTÖý²\T>± >·\ d�MT¿£sÁDeTT `  

 1. bx2 + cx + a  =  0 

 2. cx2 + bx + a  =  0 

 3. cx2 – cx + a  =  0 

 4. bx2 – cx + a  =  0 
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47. By increasing the speed of car by 10 km/h, the time of journey for a 
distance of 72 km is reduced by 36 minutes, then the original speed 
of the car is  

 72 ¿ì.MT. <�ÖsÁç|�jáÖD²�¿ì ÿ¿£ ¿±sÁT yû>±�� >·+³Å£� 10 ¿ì.MT. �|+ºq|�Ú&�T 

|�{ì¼q ¿±\eTT 36 �öö ÔáÐZq~. nsTTq ¿±sÁT Ô=\TÔá yû>·eTT 

 1. 25 km/h 

 2. 30 km/h 

 3. 45 km/h 

 4. 60 km/h 

48. If (a, 0) (0, b) and (1, 1) are collinear then the value of  1 1
a b
+   is  

 (a, 0) (0, b), (1, 1) _+<�TeÚ\T d�¹sFjáÖýÉÕq, 
1 1
a b
+  $\Te 

 1. 4 

 2. 3 

 3. 2 

 4. 1 

49. Three vertices of a parallelogram are in order  (a + b, a – b),  

(2a + b, 2a – b), (a – b, a + b), then the fourth vertex is   

 ÿ¿£ d�eÖ+ÔásÁ #áÔáTsÁTÒÛÈeTT eTÖ&�T osÁü_+<�TeÚ\T esÁTd�>±, 

(a + b, a – b), (2a + b, 2a – b), (a – b, a + b) nsTTq H�\Ze osÁüeTT 

 1. (b, b) 

 2. (b, –b) 

 3. (–b, b) 

 4. (–b, –b) 
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50. If ‘q’ lies in the first quadrant and 5 tan q = 4 then the value of  

5sin 3cos
sin 2cos

q q
q q

-
+

 is 

 5 tan q = 4 eT]jáTT ‘q’ yîTT<�{ì bÍ<�eTTýË qTq�|�Ú&�T 
5sin 3cos
sin 2cos

q q
q q

-
+

$\Te 

 1. 0 

 2. 2
3

  

 3. 1
14

  

 4. 5
14

  

 

51. The distance between the tops of two trees 20m and 28m high is 
17m, then the horizontal distance between these two trees is  
(in meters)  

 20 MT., 28 MT. mÔáTï>·\ Âs+&�T #î³¢ ºesÁ\ eT<ó�«<�ÖsÁeTT 17 MT. nsTTq 

y�� eT<ó�«>·\ d�eÖ+ÔásÁ <�ÖsÁeTT (MT³sÁ¢ýË) 

 1. 9 

 2. 11 

 3. 15 

 4. 31 
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52. The angle of elevation of the sun when the length of shadow of a 
pole is 3  times of the height of the pole is  

 ÿ¿£ d�ï+uó�eTT bõ&�eÚÅ£� <�� ú&� 3  Âs³T¢, nsTTq ú&� ºe] _+<�TeÚ 

d�ÖsÁT«�ýË #ûjáTT }sÁ�Ç¿ÃD+ $\Te  

 1. 30o 

 2. 45o 

 3. 60o 

 4. 75o 

 

53. A polyhedron has 7 faces and 10 vertices then the number of edges 
of polyhedron is   

 ÿ¿£ �V�Quó�T� 7 eTTU²\T, 10 os�ü\qT ¿£*Ð�q� � �V�Quó�T� n+#áT\ 

d�+K« 

 1. 7 

 2. 9 

 3. 10 

 4. 15 
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54. The radii of two cylinders are in the ratio 2 : 3 and their heights are 
in the ratio of 5 : 3 then the ratio of their volumes is   

 Âs+&�T d�Ö�bÍ\ y�«kÍs��\T 2 : 3 �w�ÎÜïýË, y�{ì mÔáTï\T 5 : 3 �w�ÎÜïýË 

qTq� y�{ì |��Tq|�]eÖD²\ �w�ÎÜï 

 1. 10 : 17 

 2. 17 : 27 

 3. 20 : 27 

 4. 20 : 37 

 

55. Area of a sector of a circle having radius 36cm is 54 p cm2, then the 
length of the arc of the sector is  

 36 �d+.MT. y�«kÍsÁ�eTT >·\ e�ÔáïeTTýË� �d¿£¼sÁT yîÕXæ\«eTT 54 p �d+.MT
2
 

nsTTq � �d¿£¼sÁT #�|�eTT bõ&�eÚ 

 1. p 

 2. 2p 

 3. 3p 

 4. 4p 
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56. Two parallel sides of a trapezium are 40cm and 20cm. If its  
non-parallel sides are both equal and each being 26cm, then the area 
of the trapezium is    

 ÿ¿£ çfÉ|Ó�jáT+ d�eÖ+ÔásÁ uó�TÈeTT 40 �d+.MT, 20 �d+.MT, nd�eÖ+ÔásÁ  

uó�TÈeTT\T Âs+&�Ö d�eÖqeTT\T eT]jáTT ÿ¿=¿£Ø{ì 26 �d+.MT nsTTq,  

� çfÉ|Ó�jáT+ yîÕXæ\«eTT 

 1. 660 cm2 

 2. 680 cm2 

 3. 720 cm2 

 4. 840 cm2 

 

57. If ΔABC ~ ΔDEF and AB = 2x – 1, BC = 2x + 2, CA = 3x, DF = 6x, 
DE = 18, EF = 3x + 9 then the ratio of their perimeters is  

 ΔABC ~ ΔDEF eT]jáTT AB = 2x – 1, BC = 2x + 2, CA = 3x,  
DF = 6x, DE = 18, EF = 3x + 9 nsTTq � çÜuó�TÈeTT\ #áT³T¼¿=\Ôá\ 

�w�ÎÜï  

 1. 1 : 2 

 2. 2 : 3 

 3. 4 : 9 

 4. 5 : 9 
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58. If the number of observations in the data ‘n’ is even then their 
median is    

 1. average of  
2

thn  and 1
2

thn -æ ö
ç ÷
è ø

 observations 

 2. average of  
2

thn  and 1
2

thnæ ö+ç ÷
è ø

 observations 

 3. average of  
2

thn  and ( )1 thn +  observations 

 4. average of  
2

thn  and 1
2

thn +æ ö
ç ÷
è ø

 observations 

 ‘n’ |�]o\q\T d�]d�+K«ýËqTq� y�{ì eT<ó�«>·ÔáeTT 

 1. 
2
n

 
e, 1

2
n -æ ö

ç ÷
è ø

e |�]o\q\ d�>·³T 

 2. 
2
n

 
e, 1

2
næ ö+ç ÷

è ø
e |�]o\q\ d�>·³T 

 3. 
2
n

 
e, ( )1n + e |�]o\q\ d�>·³T 

 4. 
2
n

 
e, 1

2
n +æ ö

ç ÷
è ø

e |�]o\q\ d�>·³T 
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59. 

 

 

 The median of the above data is 148 and total frequency is 50 then 
the values of x and y are  

 �|Õ $\Te\ eT<ó�«>·ÔáeTT 148 eT]jáTT båq'|�Úq«eTT\ yîTTÔáï+ 50 nsTTq  

x, y $\Te\T 

 1. x = 3, y = 12 

 2. x = 12, y = 3 

 3. x = 9, y = 6 

 4. x = 5, y = 10 
 

60. Two dice are rolled simultaneously, then the probability of getting a 
multiple of 2 on one die and multiple of 3 on other die is  

 Âs+&�T »&îÕµ\T ÿ¹¿kÍ] yûjáT�&�¦sTT. nsTTq Âs+&�T jîTT¿£Ø >·TDìÈeTT ÿ¿£  

»&îÕµ MT<�, 3 jîTT¿£Ø >·TDìÈeTT Âs+&�e »&îÕµ MT<� e#áTÌ³Å£� >·\ d�+uó²e«Ôá 

 1. 1
4

 

 2. 5
18

 

 3. 11
36

 

 4. 1
3

 

 

  

CI 135-140 140-145 145-150 150-155 155-160 160-165 
Frequency 4 x 15 11 y 5 
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61. From a deck of well shuffled 52 cards, all the face cards are 
removed. One card is randomly drawn from the remaining pack of 
cards. Then the probability of that card is a black card is 

 52 |�P]ï>± ¿£*|¾ �q� �|¿£eTT¿£Ø\ d�eTT<�jáT+ qT+&� u¤eT�>·\ ¿±sÁT¦\T  

(�|�dt ¿±sÁT¦\T) yûsÁT#ûjáT�&�¦sTT. $TÐ*q ¿±sÁT¦\ýË qT+&� ÿ¿£ ¿±sÁT¦qT  

jáÖ<��ºÌÛ¿£+>± rd¾q|�Ú&�T n~ q\¢ ¿±sÁT¦ njûT« d�+uó²e«Ôá. 

 1. 1
20

 

 2. 1
40

 

 3. 1
2

 

 4. 3
13

 

 

62. The decimal expansion of  41
1250

 will terminate after 

 1. 1 decimal place 

 2. 2 decimal places 

 3. 3 decimal places 

 4. 4 decimal places 

 41
1250

 qT <�Xæ+Xø sÁÖ|�+ýË çy�d¾q n~ ��� kÍ�H�\ ÔásÁTy�Ôá eTT>·Td�Tï+~ 

 1. yîTT<�{ì <�Xæ+Xø kÍ�qeTT 

 2. Âs+&�T <�Xæ+Xø kÍ�H�\T 

 3. eTÖ&�T <�Xæ+Xø kÍ�H�\T 

 4. H�\T>·T <�Xæ+Xø kÍ�H�\T 
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63. If  α and β  are zeroes of P(x) = 2x2 – x – 6 then the value of 
1 1a b- -+   is     

 P(x) = 2x2 – x – 6 qÅ£� α, β $\Te\T XøSH�«\sTTq 
1 1a b- -+  $\Te 

 1. 1
2

 

 2. 1
3
-  

 3. 1
6
-  

 4. 1
6

 

 

64. The value of  
2

1log 3 2
416

+
  is 

 
2

1log 3 2
416

+
  $\Te 

 1. 81 

 2. 162 

 3. 324 

 4. 648 
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65. If   S = {x/x is a positive multiples of 3 less than 100} 

      P = {x/x is a prime number less than 20} 

then n(S) + n(P) is 

 S = {x/x  nqTq~ 100 ¿£q� ÔáÅ£�ØyîÕq 3 jîTT¿£Ø <ó�H�Ôá�¿£ >·TDìÈeTT\T} 

P = {x/x  nqTq~ 20 ¿£q� ÔáÅ£�ØyîÕq ÿ¿£ ç|�<ó�qd�+K«} 

nsTTq  n(S) + n(P) = 

 1. 34 

 2. 38 

 3. 41 

 4. 43 
 

66. If  5 3 7
7 4 3

a b+
= +

-
 then the value of a – b is  

 5 3 7
7 4 3

a b+
= +

-   
nsTTq a – b $\Te 

 1. 13 

 2. 10 

 3. 7 

 4. 3 
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67. If  2x+2  =  4y–1  and  3x+3 = 27y+2  then the value of  x+y  is    

 2x+2  =  4y–1  eT]jáTT 3x+3 = 27y+2  nsTTq x+y $\Te 

 1. –11 

 2. 11 

 3. –25 

 4. 25 

 

68. The solution of  ex Tan y dx + (1 – ex) sec2 y dy = 0 is   

 ex Tan y dx + (1 – ex) sec2 y dy = 0  qT kÍ~ó+#á>± e#áTÌ $\Te 

 1. Tan y = c (1+ex) 

 2. Tan y = c (1–ex) 

 3. Tan y = c (1–ex)2 

 4. Cos y = e (1–ex) 

 

69. The solution of /y xdyx y x e
dx

= +  is  

 /y xdyx y x e
dx

= +
  
kÍ~ó+#á>± e#áTÌ $\Te 

 1. /y x cx e
y

- =  

 2. 
/2 y xex e c

-

=  

 3. 
/y xex e c

-

=  

 4. 
/y xey e c

-

=  
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70. The mean deviation of 10, 9, 21, 16, 24 is 

 10, 9, 21, 16, 24  $\Te\ eT<ó�«>·Ôá $#á\qeTT 

 1. 5 

 2. 5.4 

 3. 5.1 

 4. 5.2 

 

71. The arithmetic mean of 5 numbers is 27. If one of the number be 
excluded, their mean is 25. The excluded number is  

 27 d�+K«\ n+¿£eT<ó�«eTeTT 5. y��ýËqT+&� ÿ¿£ d�+K«qT Ô=\Ð+ºq  

n+¿£eT<ó�«eTeTT 25 n>·TqT. � Ô=\Ð+|��&�q d�+K« 

 1. 28 

 2. 26 

 3. 25 

 4. 35 

 

72. The variance of 350, 361, 370, 373, 376, 379, 385, 387, 394, 395 is 

 350, 361, 370, 373, 376, 379, 385, 387, 394, 395  d�+K«\ $d�ï �Ü 

 1. 183 

 2. 183.2 

 3. 182.2 

 4. 185 
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73. Five digit numbers can be formed from the digits 0, 2, 3, 4, 5. One 
number is selected at random. The probability that it is divisible by 5 
is 

 0, 2, 3, 4, 5  n+Â¿\ýË ÿ¿£ ×<�+Â¿\ d�+K« @sÁÎ&�+~. y�{ìýËqT+&�  

jáÖ<��ºÌÛ¿£+>± ÿ¿£d�+K« m+|¾¿£#ûjáT�&�+~. nsTTq � d�+K« 5 #û  

uó²Ð+|��&�T³Å£� >·\ d�+uó²e«Ôá 

 1. 7
16

 

 2. 1
16

 

 3. 1
26

 

 4. 7
26  

 

74. At a selection, the probability of selection of ‘A’ is 2
5

 and that of ‘B’ 

is 3
7

.  The probability that both of them would not be selected is  

 ÿ¿£ m+|¾¿£ýË ‘A’ qT #û�d m+|¾¿£ d�+uó²e«Ôá 
2
5
, ‘B’ d�+uó²e«Ôá 

3
7
. 

nsTTq � Âs+{ìú m+|¾¿£#ûjáTÅ£�+&� �+&û d�+uó²e«Ôá 

 1. 6
35

 

 2. 9
35

 

 3. 12
35

 

 4. 16
35
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75. If a binomial distribution has a mean 15 and variance 10, then n = 

 ÿ¿£ ~Ç|�<� $uó�Èq jîTT¿£Ø d�>·³T 15, $d�ï�Ü 10 nsTTq n = 

 1. 20 

 2. 15 

 3. 35 

 4. 45    

 

76. If f : R→R is defined by f(x) = 2x + |x| then f (3x) – f (–x) –4x  = 

 f : R→R qT f(x) = 2x + |x| >± �sÁÇº+#á�&�q f (3x) – f (–x) –4x  = 

 1. f (x) 

 2. –f (x) 

 3. f (–x) 

 4. 2 f (x) 

 

77. If f : R→R is defined by ( ) 1
2 cos3

f x
x

=
-

 for each xÎR, then the 

range of  f  is  

 f : R→R  qT ( ) 1
2 cos3

f x
x

=
-

>± �sÁÇº+#á�&�q, xÎR nsTTq y�«|¾ï  

 1. 1 , 1
3

æ ö
ç ÷
è ø

   

 2. 1 , 1
3
é ù
ê úë û

 

 3. [1, 2] 

 4. [–1, 1]  
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78. If 
0 0 1 0

, ,
0 1 0 0
i i

A B C
i i

-é ù é ù é ù
= = =ê ú ê ú ê ú-ë û ë û ë û

then 

 
0 0 1 0

, ,
0 1 0 0
i i

A B C
i i

-é ù é ù é ù
= = =ê ú ê ú ê ú-ë û ë û ë û   

nsTTq 

 1. AB = –BA = –I 

 2. A2 = B2 = C2 = I 

 3. A2 = B2 = C2 = –I 

 4. A2 = B2 = C2 = 0 

 

79. The system of equations 3x – y + 4z = 3, x + 2y –3z = –2,  
6x + 5y + lz = –3 have atleast one solution in common when 

 d�MT¿£sÁD²\ d�eTÖV�²eTT 3x – y + 4z = 3, x + 2y –3z = –2,  

6x + 5y + lz = –3 \Å£� ¿£úd�+ kÍ<ó�q ÿ¿£fñ �+&�eýÉqq�, l  $\Te 

 1. l = –5 

 2. l = 3 

 3. l = 5 

 4. l = 6 

 

80. 
3 31 1

1 1
i i a ib
i i

æ ö+ -æ ö- = +ç ÷ ç ÷- +è øè ø
then a and b are 

 
3 31 1

1 1
i i a ib
i i

æ ö+ -æ ö- = +ç ÷ ç ÷- +è øè ø  
nsTTq a eT]jáTT b \T 

 1. 1, 1 

 2. 2, –2 

 3. 0, –1 

 4. 0, –2 
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81. If 1, then m n
m nx cis y cis x y

x y
b= µ = + =

 

 
,x cis y cisb= µ =

  
nsTTq 

1m n
m nx y

x y
+ =

 

 1. ( )2cos m nbµ +  

 2. ( )2cos m nbµ -  

 3. ( )2sin m nbµ +  

 4. ( )2sin m nbµ -  

 

82. If one root of  Px2 – 14x + 8 = 0  is six times the other then P = 

 Px2 – 14x + 8 = 0 jîTT¿£Ø ÿ¿£ eTÖ\eTT Âs+&�e<��¿£H�� 6 Âs³¢sTTq P = 

 1. 1 

 2. 2 

 3. 3 

 4. 6 

 

83. The maximum value of 10x – 5x2 – 1 is 

 10x – 5x2 – 1 jîTT¿£Ø nÔá«~ó¿£ $\Te 

 1. –1  

 2. –1/5 

 3. 2 

 4. 4 
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84. The condition that the roots of x3 +  3px2 +  3qx + r = 0 may be in 
A.P. is 

 x3 + 3px2 + 3qx + r = 0  jîTT¿£Ø eTÖý²\T n+¿£çXâ&ó�ýË �+&�T³Å£� >·\ 

�jáTeTeTT 

 1. 2p3 + r = 3pq 

 2. p3r = q3 

 3. 2q3 + r3 = 3pqr 

 4. None 

 

85. Find the number of different ways of preparing a garland using 7 
distinct red roses and 4 distinct yellow roses such that no two yellow 
roses come together  

 7 $$<ó� mçsÁsÁ+>·T >·Tý²;\T, 4 $$<ó� |�d�T|�ÚsÁ+>·T >·Tý²;\qT y�&�TÔáÖ  

@ Âs+&�T |�d�T|�ÚsÁ+>·T >·Tý²;\T ç|�¿£Øç|�¿£ØÅ£� s��$<ó�+>± m��sÁ¿±\  

|�P\<�+&�\qT ÔájáÖsÁT#ûjáTe#áTÌ 

 1. ( )( )46! 7P  

 2. 46! 7
2

P´  

 3. 47
2
P  

 4. 45! 7P  
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86. Find the number of 7 – digit numbers that can be formed using  
2, 2, 2, 3, 3, 4, 4 

 2, 2, 2, 3, 3, 4, 4  n+Â¿\qT y�&�TÔáÖ m�� 7`n+Â¿\ d�+K«\qT 

ÔájáÖsÁT#ûjáTe#áTÌ. 

 1. 7!
2!

 

 2. 7!
3! 2!

 

 3. 6!
3! 2! 2!

 

 4. 7!
3! 2! 2!

 

 

87. If (1 + x + x2 + x3)7 = b0 + b1x + b2x2 + … + b21x21 then  
b1 + b3 + b5 + … + b21 =  

 (1 + x + x2 + x3)7 = b0 + b1x + b2x2 + … + b21x21  nsTTq 

b1 + b3 + b5 + … + b21 = 

 1. 212 

 2. 214 

 3. 213 

 4. 210 
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88. If the co-efficients of 4 consecutive terms in the expression of  

(1 + x)n  are  a1,  a2,  a3,  a4  respectively then 31

1 2 3 4

aa
a a a a

+ =
+ +  

 (1 + x)n  ~Ç|�<� $d�ïsÁDýË 4 esÁTd� |�<�\ >·TD¿±\T esÁTd�>±  

a1, a2,  a3,  a4  nsTTq, 31

1 2 3 4

aa
a a a a

+ =
+ +  

 1. 2

2 3

2a
a a+

 

 2. 2

2 3

a
a a+

 

 3. 1

2 3

a
a a+

 

 4. 4

2 3

2a
a a+

 

 

89. If (2, 1) (4, 3) (–2, 5) are the three consecutive vertices of a square 
then the area of the square is 

 (2, 1) (4, 3) (–2, 5)  \T ÿ¿£ #áÔáTsÁçd�|�Ú eTÖ&�T esÁTd� osÁü_+<�TeÚ\sTTq  

� #áÔáTsÁçd� yîÕXæ\«eTT 

 1. 16 sq.units 

 2. 78 sq.units 

 3. 24 sq.units 

 4. 36 sq.units 
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90. The equation of the line passing through (2, 0) and having intercepts 
whose ratio m : n is  

 (2, 0)  >·T+&� bþÔáÖ, K+&�q _+<�TeÚ\T m : n  �w�ÎÜï>± >·\ 

¹sK d�MT¿£sÁDeTT 

 1. nx + my = m 

 2. nx + my = 2n 

 3. nx + my = n 

 4. nx + my = 2m 

 

91. If the acute angle between the lines 2x + 3y – 5 = 0, 5x + Ky – 6 = 0 

is  
4
p

  
then  K =  

 2x + 3y – 5 = 0, 5x + Ky – 6 = 0  ¹sK\ n\Î¿ÃDeTT 
4
p

 nsTTq K = 

 1. 1 

 2. 2 

 3. –1 

 4. –2 

 

92. The equation to the pair of lines passing through the origin and 
perpendicular to 3x2 – 5xy + 2y2 = 0 is  

 eTÖ\ _+<�TeÚ>·T+&� bþÔáÖ, 3x2 – 5xy + 2y2 = 0 Å£� \+�+>± >·\  

d�sÁÞø¹sK\ ÈÔáqT d�Öº+#û d�$Ö¿£sÁD+ 

 1. 2x2 – 5xy + 3y2 = 0 

 2. 2x2 + 5xy – 3y2 = 0 

 3. 2x2 + 5xy + 3y2 = 0 

 4. 2x2 – 5xy – 3y2 = 0 
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93. x2 – 6x + 8 = 0, y2 – 5y + 6 = 0 are the four sides of a 

 1. Square  

 2. Rectangle 

 3. Rhombus 

 4. Triangle 

 x2 – 6x + 8 = 0, y2 – 5y + 6 = 0  ¹sK\T B�jîTT¿£Ø H�\T>·T uó�TC²\T 

 1. #áÔáTsÁçd�eTT 

 2. BsÁé#áÔáTsÁçd�eTT 

 3. s�+�dt 

 4. çÜuó�TÈeTT 

 

94. The area of the triangle formed by the tangent of P (x1, y1) to the 
circle x2 + y2 = a2 with the coordinate axes where x1y1 ¹ 0 is 

 x1y1 ¹ 0  nsTT, x2 + y2 = a2 e�ÔáïeTT�|Õ �q� _+<�TeÚ P (x1, y1) e<�Ý  

d�ÎsÁô¹sK, �sÁÖbÍ¿�±\ÔÃ @sÁÎsÁ#û çÜuó�TÈ yîÕXæ\«eTT 

 1. 
2

1 12
a
x y

 

 2. 
4

1 1

a
x y

 

 3. 
4

1 1

2a
x y

 

 4. 
4

1 12
a
x y
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95. The pair of circles x2 + y2 – 4x – 6y – 12 = 0 and  
x2 + y2 + 6x + 18y + 26 = 0 are  

 1. Touch each other 

 2. Intersecting circles 

 3. Concentric circles 

 4. Non intersecting circles 

 x2 + y2 – 4x – 6y – 12 = 0,  x2 + y2 + 6x + 18y + 26 = 0 \T Âs+&�T  

È+³ e�Ô�ï\sTTq n$ 

 1. ÿ¿£<��H=¿£{ì Ô�Å£�ÔáÖ �+{²sTT 

 2. ÿ¿£<��H=¿£{ì K+&�+#áT¿=+{²sTT 

 3. @¿£¹¿+ç<� e�Ô�ï\T 

 4. nK+&�Ôá e�Ô�ï\T 

 

96. The equation of the circle passing through the points of intersection 
of the circles x2 + y2 – 8x – 6y + 21 = 0, x2 + y2 – 2x – 15 = 0 and  
(1, 2) is  

 x2 + y2 – 8x – 6y + 21 = 0, x2 + y2 – 2x – 15 = 0 e�Ô�ï\ K+&�q _+<�TeÚ 

eT]jáTT (1, 2) >·T+&� bþeÚ e�Ôáï d�MT¿£sÁDeTT 

 1. x2 + y2 – 18x – 12y + 27 = 0 

 2. x2 + y2 – 6x – 4y + 9 = 0 

 3. x2 + y2 + 6x + 4y – 9 = 0 

 4. x2 + y2 = 6 
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97. The value of K, if the line 2y = 5x + K is a tangent to the Parabola  
y2 = 6x is  

 y2 = 6x  |�sÁe\jáTeTTqÅ£� 2y = 5x + K  d�ÎsÁô¹sK nsTTq K $\Te 

 1. 5
6

 

 2. 5
6
-  

 3. 6
5

 

 4. 6
5
-  

 

98. The eccentricity of the ellipse 9x2 + 16y2 – 36x + 32y – 92 = 0 is 

 9x2 + 16y2 – 36x + 32y – 92 = 0  BsÁée�ÔáïeTTqÅ£� �ÔûØ+ç<�Ôá 

 1. 7
2

 

 2. 7
8

 

 3. 2 7  

 4. 7
4
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99. If the d.r’s of two lines are (1, –2, 1) and (–1, 1, 0) then the angle 
between them is  

 (1, –2, 1),  (–1, 1, 0)  ~¿ùd�+K«\T>± >·\ ¹sK\eT<ó�« ¿ÃDeTT 

 1. 0° 

 2. 30° 

 3. 60° 

 4. 90° 

 

 

100. The intercepts of the plane 3x + 4y – 6z + 15 = 0 are  

 3x + 4y – 6z + 15 = 0  Ôá\eTT jîTT¿£Ø K+&�q _+<�TeÚ\T 

 1. 8, 6, 4 

 2. 8, –6, 4 

 3. 15 55, ,
4 2
-

-  

 4. 3, –4, 6 

 

101. Sin 120° cos 150° –cos 240° sin 330° =   

 1. 1 

 2. –1 

 3. 2
3

 

 4. 3 1
4

æ ö+
-ç ÷ç ÷
è ø
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102. ( ) ( )2 2 2cos cos 60 cos 60q q q+ + + - =  

 1. 3
2

 

 2. 1
2

 

 3. 3
8

 

 4. 1
4

 

 

103. If A + B + C = 180° then cos 2A  cos 2B cos 2C 1
sin Asin Bsin C
+ + -

 

 
A + B + C = 180°  nsTTq 

cos 2A  cos 2B cos 2C 1
sin Asin Bsin C
+ + -

 $\Te
 

 1. 2 

 2. 4 

 3. 3 

 4. 1 

 

104. 1 1 1 11 1 1 1
3 5 7 8

Tan Tan Tan Tan- - - -+ + + =
 

 1. p 

 2. 
2
p  

 3. 
4
p  

 4. 3
4
p  
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105. If the sides of a triangle are 7, 4 3, 13  then the smallest angle is 

 7, 4 3, 13  çÜuó�TÈ uó�TC²ýÉÕq, çÜuó�TÈeTT jîTT¿£Ø ºq�¿ÃDeTT $\Te 

 1. 30° 

 2. 45° 

 3. 90° 

 4. 120° 

 

106. In a 
1 2 3

1 1 1ABC,
r r r

D + + =
 

 ABCD
 
q+<�T 

1 2 3

1 1 1
r r r
+ + =  

 1. 
S
D  

 2. 1
r

 

 3. 2
r

 

 4. 3
r
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107. If the position vectors of A, B are 2 3 , 3 2a b a b- +  respectively then 

the position vector of C in AB  produced such that AC = 2AB
uuur uuur

is 

 A, B \ kÍ�q d�~Xø\T esÁTd�>± 2 3 , 3 2a b a b- +  nsTTq AB  bõ&�Ð+|�Ú�|Õ 

AC = 2AB
uuur uuur

 n>·Tq³T¢ C kÍ�q d�~Xø..... 

 1. 3 2a b+  

 2. 3 2b a-  

 3. 4 7a b+  

 4. 5 2b a-  

 

108. If 0a b c+ + =  and 3, 4, 37a b c= = =   the angle between a  and 

b is  

 0a b c+ + =   eT]jáTT 3, 4, 37a b c= = =  nsTTq a  eT]jáTT b

eT<ó�«¿ÃDeTT 

 1. 
4
p  

 2. 
2
p  

 3. 
6
p  

 4. 
3
p  
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109. If A (1, 2, 3), B (2, 3, 1), C (3, 1, 2) then the length of the altitude 
through C is  

 A (1, 2, 3), B (2, 3, 1), C (3, 1, 2) nsTTq C >·T+&� bþeÚ \+�eTT mÔáTï 

 1. 3 

 2. 3 3  

 3. 3 2  

 4. 3
2

 

 

110. The volume of the tetrahedron formed by (1, 2, 3) (4, 3, 2) (5, 2, 7) 
(6, 4, 8) is  

 (1, 2, 3) (4, 3, 2) (5, 2, 7) (6, 4, 8) \#û @sÁÎ&�T #áÔáTsÁT�Ï |��Tq|�]eÖDeTT 

 1. 22
3

 

 2. 11
3

 

 3. 1
3

 

 4. 16
3
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111. 2 3
3 2x a

a x x
Lt

a x x®

+ -
=

+ -  

 1. 2
3

 

 2. 1
3

 

 3. 2
3 3

  

 4. 2
3 3
-

 
 

112. If xy (x + y) = 2 then dy
dx

=
 

 xy (x + y) = 2  nsTTq 
dy
dx

=  

 1. 
1/3y

x
æ ö
ç ÷
è ø

 

 2. 2
2

y x
x y
+
+

 

 3. 
2

2

x ay
ax y

-
-

 

 4. ( )
( )

2
2

y x y
x x y
- +

+
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113. If x = a cos4q, y = b sin4q then dy
dx

=
 

 
x = a cos4q, y = b sin4q  nsTTq 

dy
dx

=
 

 1. b
a

 

 2. b
a
-  

 3. 2Tan θb
a
-  

 4. 3Tan θb
a
-  

 

114. A circular plate expands when heated from a radius of 5 cm to  
5.06 cm. The percentage of increase in area is  

 ÿ¿£ e�Ô�ï¿±sÁ|�Ú |�ÞèßeTTqT yû&�#ûjáT>± <�� y�«kÍsÁ�eTT 5 �d+.MT qT+&�  

5.06 �d+.MT �|]Ðq~. nsTTq |�ÞèßeTT yîÕXæ\«eTT �|sÁT>·T<�\ `  

 1. 2.4 

 2. 0.75 

 3. 0.4 

 4. 2.8 
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115. The length of the tangent of the curve 
3

2

2
xy

a x
=

-
 at (a, a) is 

 
3

2

2
xy

a x
=

-  
eç¿£eTTqÅ£� (a, a) e<�Ý d�ÎsÁô¹sK bõ&�eÚ 

 1. 5 a  

 2. 2 a  

 3. 
5
2

a
 

 4. 
2
a  

 

116. The maximum value of 2x3 – 3x2 – 36x + 10 is 

 2x3 – 3x2 – 36x + 10  jîTT¿£Ø >·]w�÷ $\Te 

 1. 64 

 2. 52 

 3. 80 

 4. 54 

 

117. ( )sin
sin

x a
dx

x
-

=ò  

 1. cos sin log sinx a a x c- +  

 2. cos sin log sinx a a x c- - +  

 3. cos sin .log sinx a a x c+ +  

 4. cos tan .log sinx a a x c- + +  
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118. ( )1 logxe x x
dx

x
+

=ò  

 1. logxe x c+   

 2. logxe x c- +  

 3. 1xe c
x
+  

 4. xe c+  

 

119. 2 2 2 2
0 cos sin

x dx
a x b x

p

=
+ò  

 1. 
ab
p  

 2. 
2

ab
p  

 3. 
22

ab
p  

 4. 
2

2ab
p  

 

120. The area between the curve y = 1 – | x | and x-axis is  

 y = 1 – | x | eç¿£eTT eT]jáTT x`n¿£�eTT eT<ó�« yîÕXæ\«eTT 

 1. 1
2

 

 2. 1 

 3. 1
4

 

 4. 1
3  
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Methodology 

 

121. “Mathematics is the science that draws necessary conclusions” – 
This definition is given by  

 1. Albert Einstein 

 2. Benjamin Pierce 

 3. Carl Friedrich Gauss 

 4. David Hilbert 

»»>·DìÔáXæçd�ï+ n+fñ �eXø«¿£Ôá |�sÁ«ekÍH�\qT }V¾²+#û $C²ãq+µµ ` n�  

�sÁÇº+ºqy�sÁT 
1. �\ÒsY¼ ×H�dÓ¼H� 

2. uÉ+�eTH� |ÓsYà 

3. ¿±sY¢ �|�ç&�¿ù >±dt 

4. &û$&� V¾²\ÒsY¼ 
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122. “If a particular property holds good in a sufficient number of cases, 
we can conclude that it will also hold good in all similar cases” – 
This relates to  

 1. Logical reasoning 

 2. Deductive reasoning 

 3. Inductive reasoning 

 4. Correlative reasoning 

»»ÿ¿£ $w�jáÖ�� nHû¿£kÍsÁT¢ |�]o*+ºq|�Ú&�T ÿ¹¿ |��*Ô��� bõ+~Ôû, 

n³Te+{ì $T>·Ô� d�+<�s�ÒÛ\ýË Å£L&� n<û |��*Ô��� bõ+<�TÔ�eT�  

�s��sÁDÅ£� s�e&�+µµ nHû~  
1. Ô�]Ø¿£ �V²ÔáTy�<�+ 

2. �>·eTq �V²ÔáTy�<�+ 

3. �>·eTq �V²ÔáTy�<�+ 

4. d�V�²d�+�+<ó� �V²ÔáTy�<�+ 

 

123. The following Mathematician is honoured as “Father of Geometry” 

 1. Euclid  

 2. Pythagoras 

 3. Gauss 

 4. Ramanujan 

»»b�Í<�sY �|�t C²yîTç{¡µµ >± >�sÁe+ bõ+~q >·DìÔá Xæçd�ïyûÔáï 
1. jáTÖ¿ì¢&� 

2. �|Õ<¸�>·sÁdt 

3. >±dt 

4. s�eÖqTÈH� 
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124. The following number is popular as “Ramanujan number” 

ç¿ì+~ y��ýË s�eÖqTÈH� d�+K«>± ç|�d¾<�ÆyîT®q~ 

 1. 1792 

 2. 1927 

 3. 1279 

 4. 1729 

 

125. Bhaskaracharya mentioned about “Mensuration” in this part of his 
book Siddhanth Siromani”  

 1. Grahaganit 

 2. Bija Ganitha 

 3. Goladhyaya 

 4. Lilavati 

uó²d�Øs�#�sÁ« Ôáq »»d¾<�Æ+Ôá ¥sÃeTDìµµ ç>·+<�̧+ q+<�* � uó²>·+ýË »»¿=\Ôá\Tµ

µ>·T]+º ç|�kÍï$+#�sÁT 
1. ç>·V�² >·DìÔá+ 

2. ;È >·DìÔá+ 

3. >ÃÞ²<ó�«jáT+ 

4. ©ý²eÜ >·DìÔá+  
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126. “Mathematics is the gateway and key of all the sciences” stated by  

 1. Young 

 2. Leibnitz 

 3. Hegban 

 4. Bacon 

»»d�¿£\ XæçkÍï\Å£� eTÖ\+, <�ÇsÁ+ ý²+{ì~ >·DìÔá+µµ ` n� �|s=Ø�qy�sÁT 
1. jáT+> ́

2. ýÉÕ_�{Ù̈ 

3. �V²>·ÒH� 

4. uñ¿£H� 

 

127. The highest level of objective in Cognitive domain is  

 1. Evaluation 

 2. Analysis 

 3. Characterisation 

 4. Naturalisation 

C²ãH�Ôá�¿£sÁ+>·+ q+<�* nÔáT«q�Ôá \¿£�«+ 
1. eTÖý²«+¿£qeTT 

2. $Xâ¢w�D 

3. ý²¿£�D¡¿£sÁD+ 

4. d�V�²J¿£sÁD+ 
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128. “Types of Triangles” can be shown easily and effectively by using 

 1. Bulletin Board 

 2. Flannel Board 

 3. Geo Board 

 4. Notice Board 

ç¿ì+~ �|�¿£sÁDeTT qT|�jîÖÐ+º »»çÜuó�TC²\T ` sÁ¿±\Tµµ qT d�T\uó�+>±,  

#á¿£Ø>± ç|�<�]ô+#áe#áTÌ 
1. �T*fÉH� uËsÁT¦ 

2. b�Í¢HîýÙ uËsÁT¦ 

3. �jîÖ uËsÁT¦ 

4. HÃ{¡d�T uËsÁT¦ 

 

129. The lowest level objective in the Hierarchical order of objectives in 
the Affective domain is  

 1. Imitation 

 2. Receiving 

 3. Characterisation 

 4. Responding 

uó²y�yûXøsÁ+>·+ q+<�* \¿�±«\ nqTç¿£eTDì¿£ýË �eT�\¿£�«eTT 
1. nqT¿£sÁD+ 

2. ç>·V¾²+#á&�+ 

3. ý²¿£�D¡¿£sÁD+ 

4. ç|�Üd�Î+~+#á&�+ 
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130. The specification “The learner is able to classify the given numbers 
into prime and composite numbers” belongs to this objective 

 1. Knowledge 

 2. Understanding 

 3. Application 

 4. Skill 

»»nuó²«d�Å£�&�T �ºÌq d�+K«\qT ç|�<ó�q d�+K«\T>±, d�+jáTT¿£ï d�+K«\T>±  

e Z̄¿£]+#á>·\&�Tµµ ` nqT d�ÎwÓ¼¿£sÁDeTT � \¿£�«eTTqÅ£� #î+~q~ 
1. C²ãqeTT 

2. ne>±V�²q 

3. $�jîÖ>·eTT 

4. HîÕ|�ÚD«eTT 

 

131. “Organisation and Recitation” are the last two steps of this approach 

 1. Blooms approach 

 2. Morrison’s approach 

 3. R.C.E.M approach 

 4. Herbartian approach 

»»e«edÓ�¿£sÁD, eýÉ¢yûjáT&�+µµ nqTq$ � qeTÖH�jáT+<�* ºe] Âs+&�T  

kþbÍH�\T 
1. �Ö¢y�Tà qeTÖH� 

2. yîÖ]d�H� qeTÖH� 

3. �sY.d¾.�.my�T. qeTÖH� 

4. �V²s�Ò]¼jáTH� qeTÖH� 
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132. “The learner is able to predict the picture formed by cutting the halo 
cylinder vertically” - This specification belongs to the following 
objective 

 1. Skill 

 2. Understanding 

 3. Knowledge 

 4. Application 

»»nuó²«d�Å£�&�T >·TÞøß d�Ö�|�eTTqT �\TeÚ>± ¿£Üï]+ºq @sÁÎ&�T |�{²�� çbÍ>·T¿ìï 

#ûjáT>·\&�Tµµ ` �~ � \¿£�«eTTqÅ£� #î+~q d�ÎwÓ¼¿£sÁD 
1. HîÕ|�ÚD«eTT 

2. ne>±V�²q 

3. C²ãqeTT 

4. $�jîÖ>·eTT 

 

133. “The pupil is able to calculate one side of right angled triangle 
rapidly and accurately when the other two sides are given” – this 
comes under  

 1. Manipulative skill 

 2. Drawing skill 

 3. Computational skill 

 4. Skill of Reading the tables 

»»nuó²«d�Å£�&�T \+�¿ÃD çÜuó�TÈ+ýË Âs+&�T uó�TC²\ ¿=\Ôá\T �ºÌq 3e  

uó�TC²�� yû>·+>±, ¿£ºÌÔá+>± >·Dì+#á>·\&�Tµµ ` nqTq~ �ç¿ì+~ HîÕ|�ÚD«+ 
1. V�²d�ï�|�ÚDÔ� HîÕ|�ÚD«eTT 

2. ºçÔáýñKH� HîÕ|�ÚD«eTT 

3. >·Dq HîÕ|�ÚD«eTT 

4. |�{ì¼¿£\qT #á<�TeÚ HîÕ|�ÚD«eTT 
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134. “Place Values” can be taught easily by using this material in Maths 
Kit. 

 1. Fractional Disc 

 2. Cuisenaire Strips 

 3. Abacus 

 4. Napier strips 

>·DìÔá�|{ì¿£ q+<�* � kÍeTçÐ� �|�jîÖÐ+º »»kÍ�q$\Te\Tµµ >·T]+º  

d�T\uó�+>± uË~ó+#á>·\eTT. 
1. _óH��\ #áç³eTT 

2. Å£L«d¾HîsTTsY |�{¡¼\T 

3. |�Pd�\ #áç³+ 

4. Hû|¾jáTsY |�{¡¼\T 

 

135. If the entire concepts of “Exponents and Powers are taught only in 
class 8th” – this type of curriculum organisation method is  

 1. Concentric method 

 2. Spiral method 

 3. Topical method 

 4. Logical, Psychological method 

»»|��ÖÔ�\T ` |��ÖÔ�+¿±\Tµµ Å£� d�+�+~ó+ºq n�� uó²eq\T 8e ÔásÁ>·ÜýËHû 

|�P]ï>± uË~ó+#áTq³T¢+&û ¿£]Å£�\+ �sÁÇV�²D |�<�ÆÜ 
1. @¿£ ¹¿+ç<�¿£ |�<�ÆÜ 

2. d�]Î\ |�<�ÆÜ 

3. o]ü¿± |�<�ÆÜ 

4. Ô�]Ø¿£, eTHÃyîÕC²ã�¿£ |�<�ÆÜ 
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136. One of the following create more concrete experience than “Field 
Trips” in the Edgar Dale’s cone of experience  

 1. Exhibits 

 2. Movies 

 3. Visual Symbols 

 4. Dramatical Experiences 

@&�ZsY&ûýÙ nqTuó�y�\ Xø+KTeÚ q+<�T ¹¿�çÔá|�sÁ«³q\¿£+fñ n~ó¿£ eTÖsÁï  

nqTuó�eeTTqT ¿£*Ð+#áTq~ 
1. ç|�<�sÁôH� ed�TïeÚ\T 

2. #á\qºçÔ�\T 

3. <��Xø« d�+¹¿Ô�\T 

4. H�³¿¡¿£sÁD nqTuó�y�\T 

 

137. One of the following is not a principle of curriculum construction 

 1. Principle of Disciplinary Value 

 2. Principle of Child Centeredness 

 3. Flexibility 

 4. Principle of Logical order 

ç¿ì+~ y��ýË ¿£]Å£�\+ �s��D d�ÖçÔá+ ¿±�~ 
1. ç¿£eT¥¿£�D² $\Te d�ÖçÔá+ 

2. ¥Xø�¹¿+çB¿£�Ôá d�ÖçÔá+ 

3. ned�sÁyîT®q eÖsÁTÎ #ûd�T¿Ãe&��¿ì M\T 

4. Ô�]Ø¿£ ç¿£eT+ d�ÖçÔá+ 
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138. The following instrument does not belongs to Mathematical 
instruments box. 

 1. Divider 

 2. Compass 

 3. Tape 

 4. Protractor 

»»>·DìÔá |�]¿£s�\ �|fÉ¼µµ Å£� #î+<�� |�]¿£sÁeTT 
1. $uó²Ð� 

2. e�ÔáïýñÏ� 

3. fñ|�Ú 

4. ¿ÃDeÖDì�  

 

139. “The topics in Statistics are divided in 8th, 9th and 10th classes on the 
basis of complexity” – this belongs to this method of syllabus 
organisation   

 1. Topical Method 

 2. Concentric Method 

 3. Logical Method 

 4. Correlation Method 

»»kÍ+K«¿£Xæçd�ï+ q+<�* n+XøeTT\T y�{ì ¿ì¢w�¼Ôá ç|�¿±sÁ+ 8, 9 eT]jáTT 10  

ÔásÁ>·ÔáT\Å£� $uó��+#á�&�q$µµ ` �~ �ç¿ì+~ d¾\�dt �sÁÇV�²D² $<ó�q+ 
1. o]ü¿£ |�<�ÆÜ 

2. @¿£¹¿+ç<� |�<�ÆÜ 

3. Ô�]Ø¿£ |�<�ÆÜ 

4. d�V�²d�+�+<ó� |�<�ÆÜ 
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140. The following is not a reason for backwardness of the students in 
Mathematics 

 1. Uninterest in Maths 

 2. Attending to classes regularly 

 3. Memory related problems 

 4. Physical disabilities 

$<�«sÁT�\T >·DìÔá+ýË yîqT¿£�&�{²�¿ì ¿±sÁDeTT ¿±�~  
1. >·DìÔá+ |�³¢ nsTTw�¼Ôá 

2. ÔásÁ>·Ü¿ì d�]>±Z V�äÈsÁT¿±e&�+ 

3. C²ã|�¿±�¿ì d�+�+~ó+ºq d�eTd�«\T 

4. Xæ¯sÁ¿£ ýËbÍ\T 

 

141. Least number of points are given to this criteria in Hunter’s score 
card for evaluation of text book. 

 1. Content 

 2. Style of Language 

 3. Exercises given in the book  

 4. The way it is to useful to the teacher 

V�²+³sYà kþØsY ¿±sÁT¦ �<ó�sÁ+>± bÍsÄÁ«|�Úd�ï¿±�� eTÖý²«+¿£q+ #ûjáTTq|�Ú&�T  

nÔá«\Î bÍsTT+³T¢ ¹¿{²sTT+#á�&�q ç|�eÖDeTT (criteria) 
1. $w�jáÖ�¿ì 

2. uó²cÍXèÕ*¿ì 

3. |�Úd�ï¿£+ýË �ºÌq nuó²«kÍ\Å£� 

4. �bÍ<ó�«jáTT\Å£� �|�jîÖ>·|�&û $<ó�H��¿ì 
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142. One of the following is a merit of drill 

 1. Mechanical reproduction of concepts 

 2. Rote memorization of principles 

 3. Monotonous work 

 4. Helps in remedial teaching 

ç¿ì+~ y��ýË �esÁïqeTT e\q ¿£\T>·T ÿ¿£ ý²uó�eTT 

1. uó²eq\qT jáÖ+çÜ¿£+>± |�ÚqsÁTÔáÎÜï #ûjáT&�+ 

2. d�ÖçÔ�\qT �{¡¼|�{ì¼ >·TsÁTï+#áT¿=q&�+ 

3. $d�T>·T #î+~+#áT |�� 

4. d�esÁD²Ôá�¿£ uË<ó�qÅ£� d�V�äjáT|�&�TqT 

 

143. One of the Demerits of Inductive Method is 

 1. A logical method 

 2. Encourages active participation of students in learning 

 3. A laborious method 

 4. Facilitates meaningful learning 

�>·eTq |�<�ÆÜ q+<�* ÿ¿£ |�]$TÜ 
1. Ô�]Ø¿£ |�<�ÆÜ 

2. $<�«sÁT�\T nuó�«d�q+ q+<�T d�ÇjáT+>± bÍý¤ZqTq³T¢ ç�|¹s|¾d�Tï+~ 

3. çXøeTÔÃ Å£L&�q |�<�ÆÜ 

4. nsÁ�e+ÔáyîT®q nuó�«d�qÅ£� <ÃV�²<�|�&�TÔáT+~ 
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144. An important characteristic feature of “Synthesis Method” is  

 1. Proceeds from hypothesis to conclusion  

 2. Proceeds from abstract to concrete  

 3. Proceeds from example to principle 

 4. Proceeds from specific to general 

»»d�+Xâ¢w�D |�<�ÆÜµµ jîTT¿£Ø ÿ¿£ eTTK« \¿£�DeTT 
1. <�Ô�ï+Xø+ qT+&� kÍs�+Xø+qÅ£� kÍ>·TqT 

2. neTÖsÁï+ qT+&� eTÖsÁïÔ�Ç�¿ì  

3. �<�V�²sÁD qT+&� d�Öçr¿£sÁD #ûjáT&�+ 

4. ç|�Ôû«¿±+Xø+ qT+&� kÍ<ó�sÁD²+Xæ�¿ì 

 

145. One of the following is a merit of Analytic Method  

 1. A lengthy method 

 2. A logical method 

 3. May not be applicable to all topics equally well 

 4. Difficult to develop speed 

ç¿ì+~ y��ýË $Xâ¢w�D |�<�ÆÜ¿ì #î+~q ÿ¿£ ç|�jîÖÈqeTT 
1. d�TBsÁéyîT®q |�<�ÆÜ 

2. Ô�]Ø¿£ |�<�ÆÜ 

3. n�� o]ü¿£\Å£� d�eÖq+>± nqTç|�jáTT¿£ï+ ¿±¿£bþe#áTÌ 

4. yû>±�� �|+bõ+~+#áýñeTT 
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146. The best suitable method to “prove that the volume of a cone is 
21

3
r hp ” using different cones with different measurements in the 

class room. 

 1. Synthetic method 

 2. Project method 

 3. Problem solving method 

 4. Laboratory method 

ÔásÁ>·Ü>·~ýË $$<ó� ¿=\Ôá\T >·\ »»Xø+KTeÚ\ÔÃ |��Tq|�]eÖDeTT 

21
3

r hp µµ n� �sÁÖ|¾+#áT³Å£� nqTyîÕq �ÔáïeT uË<ó�H�|�<�ÆÜ 

1. d�+Xâ¢w�D |�<�ÆÜ 

2. ç|�¿£\ÎH� |�<�ÆÜ 

3. d�eTkÍ« |�]cÍØsÁ |�<�ÆÜ 

4. ç|�jîÖ>·Xæ\ |�<�ÆÜ 

 
 

147. “Organisation of Fairs” comes under this type of project 

 1. The produce type project 

 2. The consumer type project 

 3. The problem type project 

 4. The drill type project 

»»ç|�<�sÁôq\T @s�Î³T#ûjáT&�+µµ ` �sÁ¿£yîT®q çbÍCÉÅ£�¼ 
1. �Ô�Î<�¿£ çbÍCÉÅ£�¼ 

2. $�jîÖ>·<�sÁT\ çbÍCÉÅ£�¼ 

3. d�eTkÍ« çbÍCÉÅ£�¼ 

4. ¥¿£�D ç|�¿£\Îq 
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148. This is not an important characteristic feature of Heuristic Method 

 1. Concrete experiences to abstract thinkings 

 2. To find the items from unknown to known 

 3. Learning by doing 

 4. Direct purposeful experiences 

nHûÇw�D² |�<�ÆÜýË eTTK«\¿£�DeTT ¿±�~ 
1. eTÖsÁï nqTuó�y�\ qT+&� neTÖsÁï �ýË#áq\T 

2. Ôî*jáT� n+Xæ\qT+º Ôî*d¾q n+Xæ\T ¿£qT¿ÃØe&�+ 

3. y�«d�Å£�ï\ <�Çs� nuó�«d�q+ 

4. �¹sÆ¥Ôá ç|�Ôá«¿£� nqTuó�y�\T 

 

149. The second step in a “Herbartian lesson planning stages” is 

 1. Association 

 2. Generalisation 

 3. Application 

 4. Presentation 

»»�V²s�ÒsY¼ bÍsÄÁ«|�<�̧¿£ <�Xø\µµ jáT+<�T Âs+&�e kþbÍqeTT 
1. d�+d�sÁZ+ 

2. kÍ<ó�sÁD¡¿£sÁD+ 

3. nqÇjáT+ 

4. d�eTsÁÎD 
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150. The highest level of experience as per Edgar Dale’s Cone of 
Experiences is  

 1. Direct purposeful experiences 

 2. Dramatical experiences 

 3. Field Tripes 

 4. Visual Symbols 

m&�ZýÙ&ûýÙ nqTuó�y�\ Xø+KTeÚ qqTd�]+º nÔá«~ó¿£ nqTuó�eeTTqT  

¿£*Î+#áTq~ 
1. ç|�Ôá«¿£� ç|�jîÖ�¿£ nqTuó�y�\T 

2. H�³¿¡¿£sÁD nqTuó�y�\T 

3. ¹¿�çÔá |�sÁ«³q\T 

4. <��Xø« d�+¹¿Ô�\T 

 

151. One of the disadvantages of oral work 

 1. Helps the students to be alert and attentive in the class. 

 2. Enhances the power of concentration of the students. 

 3. Mostly depends on the memory of the students. 

 4. Easy to test the previous knowledge of the students. 

eTòÏ¿£ |��ýË� ÿ¿£ ýË|�eTT 
1. ÔásÁ>·Ü>·~ýË $<�«sÁT�\T �Ô�àV�²+>±, çXø<�Æ>± nuó�«d�q ç|�ç¿ìjáT\ýË  

bÍý¤Zq&��¿ì <ÃV�²<�|�&�TÔáT+~. 

2. $<�«sÁT�\ @¿±ç>·ÔáqT �|+bõ+~d�Tï+~. 

3. $<�«sÁT�\ C²ã|�¿£Xø¿ìï�|Õ mÅ£�Øe>± �<ó�sÁ|�&� �+³T+~. 

4. $<�«sÁT�\ |�PsÁÇC²ãH��� d�T\uó�+>± |�̄ ¿ì�+#áe#áTÌ. 
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152. The specific strengths and weakness in learning of a child or whole 
class can be found by this Evaluation 

 1. Formative Evaluation 

 2. Diagnostic Evaluation 

 3. Summative Evaluation 

 4. Prognostic Evaluation 

ÿ¿£ $<�«]� ýñ<� ÔásÁ>·Ü yîTTÔáï+ jîTT¿£Ø nuó�«d�qeTT q+<�* �sÁTÝw�¼yîT®q  

�\ <�TsÁÒý²+Xæ\qT ¿£qT>=qT³Å£� M\T ¿£*Î+#û eTÖý²«+¿£q+ 
1. sÁÖ|�D eTÖý²«+¿£qeTT 

2. ýË|��s�ÆsÁD eTÖý²«+¿£qeTT 

3. d�+¿£\q eTÖý²«+¿£qeTT 

4. çbþ>±�d¾¼¿ù eTÖý²«+¿£qeTT 

 

153. The Academic standard that can be tested through the test item 
“Show that 2 3+  is irrational” 

 1. Communication 

 2. Representation – Visualisation  

 3. Reasoning and proof 

 4. Connection 

»» 2 3+  nHû~ ÿ¿£ ¿£sÁD¡jáT d�+K« n� #áÖ|�+&�.µµ ` nHû |�̄ ¿�±+Xø+ 

<�Çs� |�̄ ¿ì�+#á<�\ºq $<�«ç|�eÖDeTT 
1. e«¿£ï|�sÁ#á&�+ 

2. çbÍÜ�<ó�«|�sÁ#á&�+ ` <��o«¿£sÁD 

3. ¿±sÁD²\T #î|�Î&�+ ` �sÁÖ|�D\T #ûjáT&�+ 

4. nqTd�+<ó�q|�sÁ#á&�+ 
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154. The Academic Standard to be tested through the following test item 
“Write 303.03 in expanded form”. 

 1. Reasoning – Proof  

 2. Connection 

 3. Representation – Visualisation  

 4. Communication 

»»303.03 � $d�ïsÁD sÁÖ|�+ýË s�jáT+&�µµ ` B� <�Çs� |�̄ ¿ì�+#á>·\  

$<�«ç|�eÖDeTT 
1. ¿±sÁD²\T #î|�ð³ ` �sÁÖ|�D\T #ûjáTT³ 

2. nqTd�+<ó�q+ 

3. çbÍÜ�<ó�«|�sÁ#á&�+ ` <��o«¿£sÁD 

4. e«¿£ï|�sÁ#á&�+ 

 

155. The following aspect is limited to only one concept  

 1. Assignments 

 2. Do these 

 3. Think and Discuss  

 4. Try these 

ç¿ì+~ y��ýË ÿ¿£ uó²eqÅ£� eÖçÔáyûT |�]$TÔáyîT®q~ 
1. �jîÖÈH�\T 

2. �$ #ûjáT+&� 

3. �ýËº+#á+&�̀ #á]Ì+#á+&� 

4. ç|�jáTÜ�+#á+&� 
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156. This is not a characteristic features of the objectives 

 1. should be attainable 

 2. should be clear and precise 

 3. should be written as incomplete sentences 

 4. should be observable and measurable 

ç¿ì+~ y��ýË \¿�±«\ \¿£�DeTT ¿±�~ 
1. kÍ~ó+|�<�ÐqyîÕ �+&�* 

2. d�Îw�¼+>±, d�+¿ì�|�ï+>± �+&�* 

3. nd�+|�PsÁ� y�¿±«\T>± s�jáÖ* 

4. |�]o*+|�<�ÐqyîÕ, ¿=\e<�ÐqyîÕ �+&�* 

 

157. The following question is this type of question  
“Circle : pr2 : : Square : _______”  

 1. Association form 

 2. Classification form  

 3. Master list form 

 4. Analogy form 

»»e�Ôáï+ : pr2
 : : #áÔáTsÁçd�+ : _______µµ ` �~ �sÁ¿£yîT®q ç|�Xø� 

1. d�+d�sÁZ sÁÖ|�+ 

2. e Z̄¿£sÁD sÁÖ|�+ 

3. eÖd�¼sY*dt¼ sÁÖ|�+ 

4. kÍ<��Xø« sÁÖ|�+ 
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158. One of the following Mathematics educational value is in the Black 
Horst classification 

 1. Attitudes 

 2. Skills 

 3. Abilities 

 4. Habits 

ç¿ì+~ y��ýË u²¢¿ù V�äsYdt¼ e Z̄¿£sÁDÅ£� #î+~q ÿ¿£ >·DìÔá $<�«$\Te 
1. <��¿£Î<ó�\T 

2. HîÕ|�ÚD²«\T 

3. kÍeÖs��«\T 

4. n\y�³T¢ 

 

159. This educational value of Mathematics does not belong to “Breslich 
Classification”  

 1. Information 

 2. Abilities 

 3. Appreciation 

 4. Concepts 

ç¿ì+~ y��ýË uÉ¢d¾¢#Y e¯Z¿£sÁDÅ£� #î+<�� >·DìÔá $<�«$\Te 
1. d�eÖ#�sÁ+ 

2. kÍeTs��«\T 

3. n_óq+<�q 

4. uó²eq\T 
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160. One of the following is not a characteristic feature of a good 
Evaluation tool  

 1. should be comprehensive 

 2. should have subjectivity 

 3. should have validity 

 4. should have reliability 

ç¿ì+~ y��ýË �ÔáïeT eTÖý²«+¿£q \¿£�DeTT ¿±�~ 
1. d�eTç>·+>± �+&�* 

2. �Ô��çXøjáTÔá ¿£*Ð �+&�* 

3. d�ç|�eÖDÔá ¿£*Ð �+&�* 

4. $XøÇd�újáTÔá ¿£*Ð �+&�* 
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